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Name: Date:
Algebraic Properties
Properies of Equality Property Example(s)

‘Addifion Property of Equality

sublraction Properly of
Equalty

Multiplication Property of
Equality

fa=bthena+c=bre =3 x+Y4=3+Y
fta=bena-c-b-c Kzl X-b=10-b

Ifa=b, then ac = be X:q 2)(: J(})

Division Property of Equality

fa=bmenaic-bie | Y=Y i-':'—}

symmelric Properly of
Equality

Transilive Properly of Equally

fta-b.thenb-a X=3 3=X
va=bandb=c hena=c §= Y \d:lf x=Y

Properties of Operations and
Identities

Property Example(s)

Commutative Property of
Addiion

wooa | 214=U+t3

Commutative Property of
Mulfiplication

ab=b-a b-4=406

Associafive Property of
daifion
Associative Property of
Muttiplication

a+(b+c)- fa+bj+c 24((&3):(1“1’)“
o bra=ooie || (313

(o=

Distribulive Properly

abrazabroc |B(L+5):F-Y+3G

Multiplicative Identity

57

Addilive Inverss Property

a+lal=0 b+6=0

Mulliplicalive Inverse
Properly

Mulliplicalive Properly of
zero

b_ u.s._
5ot g

|
a-0=0 qo_—_o

January 16, 2019
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Properties of Equallty

Identity the property of equality:
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2. 2-(3-4)=(2-3]-4
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Properies of Equality Practice

1
Equation

Nare:
Period:

For each problem, complete the fable by filing in the missing equation or step.

step

ax+12-18
ax=6

Original Equation

subtraction property of equaiity

x=2

Equation

Step.

ak+5-17

Original Equation

subfraction property of equality

Division properly of equality

Equation

step

3(6x-1) = 13+ 5

Original Equation

15¢-3= 13+ 5

2x-3-5

subfraction property of equality

x=8

x=4

Equation

Step

vH9
3
vr9=24

-8

Original equation

subfraction property of equality

Jan 10-11:13 AM

GSE Algebral

Unit 24 Practice

Properties of Fqualifios

following lables.

Identify the property of equality that justifies each missing step or equation in each of fhe,

Steps

Given

Sultr PO €qu
Addition Property of Equality

Division PO Geoq u

Steps

Given

Division Property of Equality

Steps

Given

Equation
2.

Equation
1.3k+5=17
2. 3k=12
3.
3.

Equation
1.-6a-5=-95
2.
3.

13 [4B7= (43 B
AssS Q.P.OMuk
Jan 10-11:13 AM
5.
Equation Step
2n+5-2 Original equation
n=-6
3
Equation step
7y-84=2y v 61 Original Equation
y=2
7.
Equafion step
%5 _ original Equation
x=7
3
Equation step
2(12¢— 1) = 4fx + 2} Original Equation
T
=3
Jan 10-11:14 AM
GSE Algebra | Unit 2A Practice
4.
Equation Steps
1.3(5x +1)=13x+5 Given
2.
3.
4.
5.
5.
Equation Steps
1.7y—-84=2y+ 61 Given
2.
3.
4.
6.
Equatio Steps
1.4(§n+7)-3n=5’(4n-9) Given
2. 200 +2%-3n= In-33] Distr Prop
3.7 130+2F =)2A-2% Combining [iketecm
4. ""™Vga £3§=233 Subt €q0
5. A ) Subk PO €qn
6. e Div.

Jan 10-11:14 AM
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January 16, 2019

January 17, 2019, Thursday

List 3 algebraic properties and an example for each.

Jan 10-11:16 AM

Literal Equations and Dimensional Analysis Task

Lon

1 The area of a riangle is found using the formula
. Find the area of a trangle with a height of Gem and a base of 3cm.
b. Solve the arca formula for b.
. Find the base of a triangle whose area is 20n and whose height is in.
2. The formula d = rttels the distance traveled at a given rate and time.
& Solve the cquation for £.
b. Determine how long it will take an airplane to travel 2,000 miles if i flies:
1200 miles per hour
i, 400 miles per hour
i, 600 miles per hour
3. The formula for the perimeter of a package is = 2L + 21, whete L i the length and W i the
Y v th ormulafor lengh
b What s the length of a package that has a perimeter of 22 o and a width of 5 cm?

4. The formmula §
discount rate

price S, the list dthe

2 Solve fo
b.Use the new formula to fid the discout at a a decimal and s a pescen.
i, Sal price of 40 and lst prie of $50.
i Sale prio of 5102 and it pice f S120
5. The volue of a b /i given by the formula ¥ = Al
. Solve the formala for

3 the height of a box with & length of 10 meters, and
width o2 meters?

GSE Algebra 1 Name
Properties Quick Check Block ___Date.
For 1-10, Match the following property with ts example.
1. Commutative Property of Addition A6:0=0
2. Commutative Property of Muliiplication ~~ B.6+ (54 1) =(6.4'5) + 1
3. Associative Property of Addition ci-g
4 Associative Property of Multplication D.3(2x 1 8)=6x1 24
5. Distributive Property E10+(10)=0
6. Additive Idenity Property
7. Multiplicaive Identity Property
& Additive Taverse Property W2 G =238
9. Muliplicative Tnverse Property 1910=9
10, Muliplicative Property of Zero 18+6=6+8
For1112, st equ
each ofthe tables below.
n
Statement Reason
L1t 8-12c+10 Given
225 18=10
32x=2 Subtraction Property of Equality
x=1
12
Statement Reason
14@xrD=2x128 [Given
2 Distributive Property
3exta=20
+ Subtraction Property of Equality
Sx=4 Division Property
Jan 10-11:21 AM
Literal Equations and Dimensional Analysis Task
1. Th ara of  risnle i found using the formula 4=
. Find the area ofa triangle with a height of Gom and a base of 3em.
. Solvothe arca formula forb.
. Find the 0in and
2. The formula d = r tells th distance traveled at  given rae and time.
. Solve the cquation for .
. itwill tak les ift

200 il perhour
i 400 miles per hour
. 600 miles per hour
3. The fonmula for the perimete of a package is 2 = 2 + 21, where L i the length and J i he
i a. Solve the formula for length.
. Whatis the length ofa package tha has a primete of 22 m and a widk of§

4. The formula § = L - 7L shows the relationship among the sale price S, the ist price L, and the

discount rato .

a.Solve for

b Use the d the dis decitmal and

i Sale price of $40 and lst price of $50.

. Salo price of $102 and list price of $120.

5. The volume of a box ¥is given by the formula ¥/ = vk
a.Solve the formula for .

b, What s the height of a box with a volume of 50 cubic meters, length of 10 meters, and
width of 2 meters?

Jan 10-11:19 AM
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GSE Algebra | Unit 24 Practice.

Solving for Missing Variable

B ays W oo o 62 oy W 0o |we
Fracios ot

[l R ——

1 P=RT (D) 2 P=2L+W) (W)

3 510 (9 bl ®
5) ) 6)  y=mxib (B
7 extby=c @) 5 v

9 axiby=c @ 10) )

GSE Algebra 1 Unit 24 Practice

Rewrite each equation in ferms of the indicated (Leffer).

) peaiaw m y s=2mh w

3y E=mc 4 20x-sy=30 @)

5 6 yomx+b ()
athic
v g
” 5 T @
2%
o m=E 100 6x+3y-1s 6
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January 11, 2019, Friday load 2 more assignments!

Solve: y =mx + b for b

Solve

Jan 10-11:23 AM Jan 10-11:25 AM
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